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PART -1: GENERAL ENGLISH

1. When your friend receives a gold medal in sports, what would you say?

(1) Ohmy God! (2) How disgusting!
(3) Whatamiracle! (4) Congratulations!
2. Mr. Rao is interested in travelling. I think he can suggest you the best places of visit.
(1) Expressing opinion (2) Expressing gratitude
(3) Complaining (4) Expressing adequacy

3. What was the author’s motto in presenting the story ‘What is My Name?’
(1) to bring out the identify of women
(2) toremove orthodoxy
(3) to confine the women to household chores
(4) to forget their name and continue a dependent life

4.  Which of the following incidents make ‘The Brave Potter’, a funny story?
(1) The Potter drinks some palm-wine to feel better.
(2) TheKing declared the Potter his Army General.
(3) The Potter’s wife brought the letter of the enemy king to the Emperor.
(4) The Potter hung on the back of the horse like a sack of rice praying God for his life.

5. Itdoesn’t seem delicate, somehow to own your father’s slippers.
(Find the antonym of the underlined word)

(1) smooth (2) tender (3) awesome (4) horrible
6. Identify the Greek words from the following. -
a) thesis b) species c) erratum d) crisis

(1) (@),(),(c) (2) (@) ()@ (3) ((b)d) (4 (c)only
7.  There are many ‘mistakes in your answer. Rewrite everything.

(Combine the sentences using ‘since’)

(1) Since there are many mistakes in your answer, rewrite everything.

(2) There are many mistakes in your answer since rewrite everything.

(3) There are since many mistakes in your answer, rewrite everything.

(4) Since there are many mistakes in your answer, so rewrite everything.
8. Tdonot have enough clothes for my journey.

In the above sentence ‘enough’ acts as

(1) anadverb (2) an ad_]CClIVC (3) anoun (4) averb
9. The context / subject is the necessary element fora
(H I)qu_c;lr)_lﬁry (2) Aspeech (3) Adescription (4) Allthe nbov ‘
10. Wlnch of the following is the most important element for a diary entry? -
(1) the mood of the writer (2) formal greetings

(3) note mak m;u)l an inc ld(lll (4) address of the writer

V-General l[l(lhgh - A v —— B
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(11-15) Read the following passage and choose the correct answer to the question that _follows.

One day, a father of a rich family took his young son on a trip to the country side to 51“_3“'
him how poor, people can be. They spent a day and a night in the farm of a \/fry poor family.
When they got back from the trip, the father asked his son, “How was the trip?

“Very good, Dad!’ said the son.
‘Did you see how poor people can be?’ the father asked.
“Yeah!” ‘And what did you learn?’ asked father.

The son answered, “I saw that we have a dog at home, and they have four. V_Ve have a pool th_at
reaches to the middle of the garden, they have a creek that has no end. We have 1mportgd lanlps in
the garden, they have the stars. Our patio reaches the front yard, they have a whole honzon.” The
boy’s father was speechless. His son added, “Thanks Dad, for showing me how poor we are!”. N

Everything depends on the way we look at things. Our positive attitude and true spirit,
makes us feel we have everything.’ '

11. What did the father want to show his young son?
(1) every nice thing in the World
(2) the country side :
(3) how a city life is better than country life
(4) how poor, people can be at the country side

12. What was the son’s feeling after their return from the trip?

(1) He felt tired (2) He was speechless
(3) He liked the trip (4) He felt angry upon his father

13. What did the boy learn about the country side during his stay?
(1) People are very poor at country side.
(2) People at country side are much more happier than the rich families.
(3) People own big houses.
(4) The country people have sleepless nights.

14. What was mainly focused in the passage?
(1) The difference between natural and artificial life
(2) The similar features in father and son
(3) How rude was a father to his son?
(4) How disobedient was a son towards his father?

15. What can make us feel rich and happy?

(1) dependent life (2) astay at country side

- (3) a positive attitude and true spirit (4) 1imported lamps, a dog and a patio

16.  When your friend is in need of money and you don’t have any money to help him, how do
you express your inability?

(1) Tcannever help you (2) Ttis none of your business
B __(3') Get away from here (4) Tamverysorry, I don’t have either
V-General English 4-A
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17. What are the features of a one act play?

(1) Focus on one incident (2) Minimal characters

(3) Both(1)and (2) (4) Fantasy
18. Identify the positive quality / qualities given below.

a)  haughty b) trusting c) idealistic d) cautious

(1) (a)and (c) (2) (d)only

(3) (a),(b)and (c) (4) (b),(c)and (d)

19.  The boy was rewarded for his performance.
(Fill in the blank with right collocation) »
(1) outraging (2) forgettable (3) outstanding (4) allocating

20. “Oh, what a surprise!” What kind of expression is this?
(1) Excitement (2) Annoyance (3) Dejection (4) Grief

’

21.  ‘Itis such a delightful moment in my life ]
Which category does this expression best fits in?

(1) Conversation (2) Diary entry

(3) Biographical sketch (4) Both(1)and (2)
22.  ‘Pranam Guruji!  have a wish to present before you’. The sentence above can be the opening

remarks of :

(1) Aspeech (2) Anessay (3) Aconversation (4) A formal letter
23. Shehad always been bad lz;nguages.

(Choose the right preposition) :

(1) in (2) at (3) by (4) of

24. Madan has a little sister. She is in Class 2.
(Combine the sentences using Relative clause ‘Who’)
(1) Madan who has a little sister is in Class 2.
(2) Madan has a little sister who is in Class 2.
(3) Madan has a little sister who she is in Class 2.
(4) Who is Madan’s little sister?

25. Which of the following words come first in a dictionary?
(1) repeat (2) repel (3) receive (4) reality
26.  I'saw my father’s face lighting up with contentment.

What is the synonym of the underlined word?
( 1y ﬁsEVIAi_sfaction (2) consent (3) connection (4) displeasure

27, You may take left and go straight to reach the post office.
(1) fixymg directions (2) Expressing possibility
(i)»_ Refusing help (4)  Giving permission

V-General English S-A
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28.  Which qualities do you find in Wangari Maathai?

(1) Environmentalist (2) Nobel prize winner
(3) Feminist (4) Allthe above

29. The anecdote of Socrates teaches us that can lead to sucgess.
(1) aweakdesire (2) aburning destre
(3) air to breathe (4) drowning in water

30. He found the world of Apu so fascinating that he saw all three films in one sitting.

(Choose the appropriate antonym for the underlined word)

(1) boring (2) curious (3) wonderful (4) irregular
31. What is the one word substitute for ‘A film that gives facts about something’?
(1) didactic (2) documentary (3) aesthetics  (4) portal

32. The speaker’s / writer’s personal opinion is expressed in
(1) ADiaryentry (2) Informal letter (3) Jobapplication (4) Both(1l)and (2)
33. We have experienced that animals are endangered in the poem “Or will the Dreamer Wake’.
This can be best explained as ‘Extinction of Wild Life’ in the form of

(1) Aspeech (2) Amessage (3) Biography (4) A statement
34. Rajumay recover within a couple of days.

(1) Suggestion (2) Possibility (3) Offer (4) Statement
35. Whatis the theme behind the lesson ‘The Journey?” -

(1) Humanrelations (2) Unity

(3) Personality development (4) Bio-diversity
36. To Roberge, Ray was not

(1) afamous director (2) screenplay writer

(3) aliving museum piece (4) anartist

37. Pick out the Rhyming words from the following.

(1) boo-boo (2) zig-zag (3) hanky-panky  (4) tick-tock
38. The manreversed the car.
(Change into Passive Voice)

(1) The carreverses by the man. (2)

The car was reversed b
€ the man.
) ,_,V,(; _3) The car may be reversed by theman.  (4)  The man was reversed %y the car

39. It’s time you seriously about your future, I
(Choose the right verb from the options given below)

(1) thought (2) think

(3) may have thought (4)  will think

e —————

40. PickoutlAhcwi?rdwilhwrongspclling.” —_—
(1) departed (2) absolutly (3) detractors

—r ~(4)  dialogue

V-General English 6-A
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41. Ramya will announce the news.
(Change into Passive Voice)

(1) Thenews will announce Ramya. (2) Thenews will announced by Ramya.
(3) Thenews was announced by Ramya. (4) Thenews will be announced by Ramya.

42. The course of a person’s life is presented in
(1) amessage (2) asituation (3) abiography (4) a formal letter

43. What does it mean when Wangari Maathai said, “When we plant a tree, we plant hope”.
(1) Trees are the source of life for future generations.
(2) The planting of exotic species can retain water for vegetation.
(3) We can cut down the old trees and plant new ones.
(4) We may plant a tree and hope only in the rural areas.

44. Which qualities in Nick won him the Australian young Citizen of the year award?
(1) his unsuccessful attempt to suicide ~ (2) his love and respect for parents

'(3) hisbravery and perseverance (4) lack of purpose in life
45. Ihave cut my finger. The underlined phrase is in tense.

(1) Present tense (2) Present Perfect tense

(3) Past tense (4) Past Perfect tense

46. 1want this parcel to be sent right away.
Find the meaning of the word underlined according to the context.
(1) immediately (2) completely (3) appropriately  (4) faraway
47. Suresh, who studies class 6, has left the school just now? 7 )
(What type of clause is the underlined part?)

(1) Defining relative clause (2) Non-defining relative clause
(3) Adverbial clause ' (4)  Verb phrase
48.  Which of the following is necessary for a conversation?
(1) A theme/issue (2) Two or more people
(3) Aresolution (4) Allthe above
49. The poem ‘Once Upon a Time’ is
(1) A father’s emotions (2) A conversation
(3) Amessage (4) Aspeech

50.  Abel was in distress to see his daughters dividing his property. How could he express his
inner feelings?

(1) through a description (2) throughadiary entry
(3) through a letter to friend (4) all the above
V-General English 7-A
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PART - 11 : BIOLOGY

51. Chromatid formation can be scen at this stage of Mitosis.
(1) Phophase (2) Metaphase
(3) Anaphase (4) Telophase
F3r8d) Ko d%0dFad Bof), & ¥’ HHdoudui)
(1) ©HESSE (2) SoggRdd
3) VoI8% (4) wodgtd
52. Sebum is a mixture of these compounds.
(1) Hydrocarbons, waxes, proteins and fatty acids
(2) Alkaline salts, fatty acids, waxes
(3) Water, waxes, hydrocarbons, proteins
(4) Waxes, sterols, hydrocarbons, fatty acids
o 0N & dFyFTeo MFso.
(1) soSdvmgen, oo, @SS $HBas» 8 vdred
(2) sSodesren, P8 sidres, 0
(3) %, Do, EESdT e, S
(4) D0, YTS), EGIITT, T8 vlred
53. (A) Thrombokinase Thrombin
(B) Thrombin Fibrin
What are (A) and (B)?
(1) (A) Fibrinogen (2) (A) Collagen
(B) Thrombokinase (B) Fibrinogen
(3) (A) Prothrombin (4) (A) Fibrinogen
(B) Fibrinogen (B) Collagen
A FOEIE E0DS
B)___ _Eaes 2OS
(1) (A) 2OT2S 2) (A) Foras
(B) gro&Baé (B) 2O =S
(3) (A) @8 od 4) (A) 2OITBS
(B) DS ed (B) Beoras
V-Biology 8-A
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54.

Identify the correct statement/s.
Statement-1: Excess water from plants comes out only through the process of Transpiration.

Statement - I : Root hairs absorb water from the soil through the process of osmosis.
(1) Both are correct. (2) Both are incorrect.

(3) Statement II is incorrect. (4) Statement [ is incorrect.

SBGDS TsTgod Kgotod.

TEg0 -1 I o' wHEIS K)do e.ra‘o)éﬁ)éo ErD065* 200K DodwtrE08.
T8go - I1: Soredder 588 $08 B EaPdde mgor Faotodrow.

(1) Bodr JBGHI. (2) Bodr SBGHID 5°).
(3) o850 - I H0FoSB s~&o. (4) o850 - 130088 5°¢%.
55. Assertion (A) : Biosynthetic phase of photosynthesis is also known as Dark phase.
Reason (R):  Dark phase occurs only at night.
(1) (R) 1s the correct explanation for (A).
(2) (R) is not the correct explanation for (A).
(3) (R) is correct but (A) is incorrect.
(4) Both (A) and (R) incorrect.
TGS (A): 88eaalg B0R0KBOHS D £S5 S0Fdes KI5 QY08 BF W SrE Voird.
57620 (R) 1 A 08 &% 0@ o S addiHeod.
(1) (R) 050358 (A) % 50808 JS58eo.
(2) (R) 03538 (A) % 30808 D380 5°¢0.
(3) (R) 5063056 5°Q (A) 90F0d8 5.
(4) (A) 08030 (R)Todr H0508d 7).
56. Common paésage of digestive and respiratory system 1s
(1) Pharynx (2) Larynx (3) Trachea (4) Bronchus
TG S000i0 £ SgSH 28 Srdormr H VoSS
(1) @B (2) congd'i)t'ﬁé (3) oosnao (4) TR
57. Match the following.
i)  Tricuspid valve a) Left Auriculo-Ventricular Septum
ii))  Bicuspid valve b) Left ventricle
iii) Pulmonary valves c) Right Auriculo-Ventricular Septum
iv)  Systemic valves d)  Right Ventricle
Bo& T8 2898F08.
i) ofdgod Earbo a) AN E0E wB05T0dS JeraEo
i)  eyidios gardo b) A8 26068
1) DYPJEHJ Earbo C) &b 808 x805T088 Jeraso
iv) 50 oo d) S8 2808
(1) (i)-a,(i)-c,(iii) - b, (iv) - d (2) (i) -c, (i) - a, (iti) -d, (iv) - b
(3) (1) C, (n) -4, (111) - b, (IV) d 4) (@()-a,(i)-c, u)-d, (v)-b
V-Biology 9-A
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58. Pleura : Lungs :: Brain : ' / :
(1) Myocardium (2) Pericardium  (3) Meninges (4)  Endothecium
JLO 1 B08&en 1 D!

59.  Arrange the stages of cell cycle of Mitosis in correct order.

S Phase
G, Phase
M  Phase
G, Phase
ESBoS’ Hodafas RwE) ol K83 Elos’ eld)od.
S &%
G, &%
M &%
G, &
(1) SG,MG, (2) G;G,MS (3) G G;SM (4) G;SG,;M

60. Observe the given table and mention the genotypic ratio of F, generation in a Monohybrid
Cross.

QScBS HBES {5000 F, $088S5°A 800888800 Bg), a2dog8rsd Q8D Boyod.
AR
Y [YY | Yy

|
Y | Y | w

() 3 2) 1:2:1 (3) 13 (4) 9:3:3:1

61. Dental formula in Human beings is
3o dod Jorgo

2 1 2
(1) 3 212 (2) 4 2 4 6
3212 4 0 4 ¢
21 23
3) = - @ &4 2 4
62.  Stomach : Chyme :: Mouth :

(1) Chiasma (2) Chyle ‘(3) Bolus (4) Acidified food

Brmd s . REL .. SEal
ST P00 1 P 11w W3

(1) Bosrary (2) 35 (3) S0

./.,.5:;0

(4) ends oo

V-Biology 10-A

CE Scanned with OKEN Scanner




LULILEUEIR & |7 T

Booklet Code

e

63. Which of the following heterotroph indirectly depends on autotrophs for its survival?
(1) Grasshopper (2) Tapeworm (3) Rat (4) Banyan tree
BoB J JEAFAELD T JodaKd §do Jgofo FAFOP I8 o wrrddtediod?
(1) 6 (2) o dTHED (3) dend (4) Soedey

64. Match the following.

Group-A Group -B
1)  Pyridoxine a) Nerve disorders
i1) Cyanocobalamine b) Anaemia
iii)) Biotin c) Fertility disorders
iv)  Tocoferol d) Pemnicious anaemia
808 L 2SIEB0d.

B -A - - B
1) NO=8)S a) b doKygen
i) DSErroS b) @IS
ii1) 2B, c) JoaSE)8 JdJodgen
iv) &§pos d) DHRCHD BT
(1) (@)-d, (i1)-b, (iii)-c, (iv)-a
(2) (i)-a, (ii)-c, (iii)-b, (iv)-d
(3) (1)-b, (11)-d, (iii)-a, (iv)-c
(4) (1)-c, (i1)-d, (ii1)-a, (iv)-b

65. Time needed for Atrial contraction is __
contraction is

8850 JoF'wrd8 HF ddao _ (A)_ IR HBAs0 28880 HoS IS 98 doado

seconds.

(B)

_ (B)___ &,

(1)
3)

(A) 0.14-0.18
(B) 0.29 - 0.34
(A) 0.11-0.18
(B) 0.29 - 0.34

- (A)

(2) (A) 0.11-0.14

(B) 0.27-0.35

(4) (A) 0.14-0.16

(B) 0.27-0.38

66.
(1)
(3)

(1)

Cerebellum
Diencephalon

@éoéa?_%ézjo

Which part of the brain is the centre for hunger and sleep?

(2) Medulla oblongata
(4) Cerebrum
G5O Ho0c5n JBK Howohod IpBES Y Tos RN

(2) 3022800
(4) SoRyo

11-A
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67. Assertion (A) : Weeds and wild plants are not affected by insects and pests.
Reason (R):  Plants release some poisonous gases. _
(1) Both (A) and (R) are correct, but (R) is not the correct explflﬂatlon for (A).
(2) Both (A) and (R) are correct and (R) is the correct explanation for (A).
(3) (A) is correct, (R) is incorrect.
(4) Both (A) and (R) are incorrect.

TES(A):  Soo DG e, obd B o bbse, DG YEOH T BT,
s6wo(R) 1 Bofen §R) AFres TomPoss b Bow.

(1) (A) 80 (R) 985059, 50 (R) 058 (A) $ 3050 d5Feas .

(2) (A) 558050 (R) 505059 H8050 (R) @058 (A) S HBXS IS8e0.

(3) (A) 205088, (R) $0&08s 5.

(4) (A) S00050 (R) 0808 509

68. Statement - I : Nerve cell bodies together with the capiliaries form a mass called white

matter.

Statement - IT : Myelinated axons (or) those covered by fatty sheaths form Grey matter.
(1) Statement I is true (2) Statement I is true
(3) Both are true (4) Both are false

TEgo -1: 76 Swditen, 53T $0% BooRsor Foeed) VG)Erzo.
F850 - I1 1 200S S $OAS IsRen 2r&E80KH FoerQ) Dd)oarem.

(1) o850 1585088 (2) &850 11588058
(3) Bodr HORID (4) Bodr JB&KD 5%
69. Annelids : Nephridia :: Nematoda - 7 7 :
(1) Green glands (2) Meta Nephridia
(3) Renette cells (4) Malpighian tubules
0BT : JPdodr 1 AdESE
(1) &8¢ Hogoed (2) DerJHacss
(3) BTIE Segeew (1) SOy2a0s S@gen
70. This part of the Brain controls the pituitary glaﬁd. — 4

(1) Thalamus of Diencephalon

| _ _ (2)  Hypothalamus of Diencephalon
(3) Medulla oblongata of Hind brain (4)  Cerebellum of Hind brain

BEdeS'D & grtio DAL HOHI JSHo@R08.

(1) o8 fgod’™ Grod (2) o8 fEosts = e

sl QY MEOOR el
(3) JIXE S D Jerdowo (4) BEoE R s et L
-] .':a, 7 ' 7 e DS A,JJLJK:IJVC_J “) ‘J’(:iJEJZ‘oJ:;JJJU

i

e

V-Biology 12-A
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71. Statement-I: There is no relation between Transportation and Transpiration in plants.

Statement - II : Thalassemia is an inherited disorder related to Brain.
(1) Both statements are true (2) Statement I is true
(3) StatementIIistrue (4) Both statements are false

g0 - 11 IuHos' B3dm Sg555%, B8 g Sowogo B,
830 - I : oodosr ©fH$s dE% Bo080DS S0FFBoddy T5B.

(1) Bodk orsegen DBToSD (2) o8go 150653058

(3) &850 Il 58058 (4) Bodk Irsgen JOGXD 57
72.  Match the following.

i) Bulb a) Ginger .

i1)  Rhizome b) Potato

iii) Stolon c) Onion

iv) Tuber d) Strawberry

§od T7EA 2BHEF0d.

1)  odHlo a) ©eo

i) 8500 b) womrediod

1) oI c) &d

v) &od d &3

(1) ()-d, (ii)-c, (iii)-b, (iv)-a

(2) (i)-a, (ii)-b, (iii)-c, (iv)-d

(3)  (i)-c, (ii)-a, (iii)-d, (iv)-b

(4)  (i)-c, (i)-d, (ii))-a, (iv)-b
73.

V-Biology

Statement-1: Osmoregulation in fresh water organisms like Amoeba, Paramoecium
occurs through contractile vacuole,

Statement-II: Specific excretory organs are present in unicellular organisms.
(1) Statement I is false and Statement II is true.

(2) Statement I is true, Statement I is false.

(3) Both Statements are wrong.

(4) Both statements are true.

TEGO -1:  wder, FEDXH0 508 5000HES BYeest
28ME08.

Tego - 11: 0w dHoo’ BEgERS DvgTSabTes Botroy.

(1) JEgo Ie‘ﬁéj, F8goll 2dy.

(2) ;‘-’S‘go I ?.,;'33, a‘*égo]l ééj.

(3) Bodo TEgen 5.

BIDI8e Jo8* 5088w oo

(4) Body TEgen e.,isj.
— 9%
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74.  Identify the part of the given cell which produce energy for the movement of the sperm?

(1) Acrosome (2) Nucleus (3) Mitochondria (4) Tail
RRES DFoS™ A wrro HEEwO ESOTIE wIHEIS 8 QH08H?
(1) QS (2) oo (3) D&'sodcsH (4) &%

Acrosome
Nucleus

Mitochondria

Tail

75.

Assertion (A) : In Tissue culture technique thousands of plants can be grown in a very short
interval of time.

~Reason (R):  Plant tissues are placed in a growth medium with plant hormones.

(1) (R).is not the correct explanation for (A).
(2) (R) is the correct explanation for (A).
(3) (A)iswrong.

(4) Both (A)and (R) are wrong.

TES (A) Smere ¢80’ FR) Jo dopgo Ing o v SEVIS IR IR AL
0NN,

5600 (R): 3050 Smerorer DOKGL SEFw 508 &) S¢S airsgod’
€0t EE 0N

(1) (R) 058 (A) & 50508 IS0 ¢,
(2) (R) @556 (A) & 0@ dS6e0.
(3) (A) BEGSB 5.

(4) (A) 5005 (R) H0GHSD 5.

V-Biology 14-A
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76. What happens if “part X™ is removed from the Nephron?
a)  Urine will not be formed.
b)  Quality and quantity of urine is unaffected.
¢) Urine becomes more concentrated.
d) Urine becomes more diluted.
() (a) (2) (b)and (c)
(3) (d) 4) (o)
S, B3r0 oD “‘rho X7 & SwfodSS Jo 28K&Es?
a) Sorgo 5636653.
b) Sor@o By JdTradto, H0Sre0D NS0 Hardo Hokd.
c) Swr@o Ry, mES S0,
d) Sorgo Jenwss ©Hsos.
(1) (a) (2) (b) Ho8052 (c)
3) () @) ()

77. Examples of saprophytic and parasitic nutrition are

(1) Yeast, Bread Mould (2) Yeast, Dodder

(3) Mushroom, Yeast (4) Banyan, Chrysanthemum

oS, Hord) 258 Fhed STTCne

(1) &8, 68 are (2) &Q, &rdd

(3) Lidur, & (4) S0, TH00d
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78.

\*

Identify the correct statement. -

Statement -1 : An organism which may reproduce sexually may sometimes reprodyce
asexually.

Statement - I1 : Parthenogenesis occurs in animals like Bees, Ants and Wasps.

(1) Statement 1 is true, statement I is false.

(2) Statement I is false, statement II is true.

(3) Both of the statements are true.

(4) Both of the statements are false.

DBRS TEgR) Kofood.

TEgo-1: Bohs PEgs8 20D £ w8 Y F0 ©Bons PEFEBE HIY&0d.

F8go- I 1 FPSBIVS 838K, Hoen, Ho8chn EodbHweS” EQDX0B.

(D J°Eg0 Ia;é‘j, J8go I SO3.

(2) g0 1833, arégo 11 2,93,

(3) Qoo TE g DBROIS.

(4) Bok TE g0 DBRSD 5.

79. Chlorophyll is a pigment which contains one atom of (A) . It is similar in
structure to the (B) of Haemoglobin.
(1) (A)-TIron, (B) - Globin (2) (A)-Magnesium, (B) - Haem
(3) (A) - Potassium, (B) - Oxygen (4) (A)-Magnesium, (B) - Globin
0S5 58 $550S° wf @) (A Pot0s. B ATY0 TAFFHSS'?
B) o FO Holood.
(1) (A)-283, (B)- &0 (2) (A) - Dhacso, (B) - -
(3) (A) - >&rdado, (B) -s§s (4) (A) -Bofiaco, (B) - 708
80. Match the following. ’
i) Bile a)  Stomach
11) Pepsin b)  Small intestine
iii) Ptyalin ¢) Duodenum
iv)  Sucrase d)  Buccal cavity
Bod TEQ 28HEPob.
i) hEgsdo a)  dr¥cho
i) e b) A& B
i) 05008 c) Q@ Sareo
iv)  HoEad d)  edgssso
(1) (1)-a, (11)-b, (ii1)-c, (1v)-d (2)  (i)-c, (ii)-a, (iii)-d. (iv)-b
(3)_()a, (i)-c, (iiyb, (ivy-d  (4) ()b, (i), Gi)a, (iv)e
V-Biology 16-A
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Assertion (A) : In human beings blood flows twice through the heart.

. Reason (R):  This happens to separate oxygenated blood frf)m plasma.
(1) Both (A) and (R) are true and (R) is the correct explanation .for (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation for (A).
(3) (A)istrue but (R) is false.
(4) (A) is false but (R) is true. |
FES (A) 1 3r3Yhos® 8o Kod ogor Bodkd K DPT08.
5°800(R) : 882d0rd §5:0) FIry 08 IHVCHFIE qor 2diHS0B.
(1) (A) 50050 (R) 588308 50008 (R) @98088 (A) & 38G08 DS58e0.
(2) (A) 085w (R) 985308 57 (R) @088 (A) Ko 985308 dS8ea 5.
(3) (A)JBRo8s 50 (R) 500858 5°¢0.
(4) (A)JIBI8 520 579 (R) 380&8.
82. Observe the given diagram and identify the part/s through
which food is ingested?
(1) A (2) AandC
3) B 4 C
23(0ES SV (50D, BFTY SHOE BRI
FTeR/erm) $)8owN0d.
(1 A A (2) Ao8osw C
(3) B | (4) C
83. Statement-A: A Xerophyte like Elodea can be used during the experiments of
photosynthesis.
Statement - B : Ingenhousz named the green coloured substance in leaves as chlorophyll.
(1) Statement A is correct.
(2) Statement B is correct.
(3) Both of the statements are correct.
(4) Both of the statements are incorrect.
TEGo -A: IS A5 S0l3 Jd S0 5 Bleasg HoRTHBA%H BIrmees® T ESR).
TEe - B @0t ehngd S65Q) 20855 §60E 0d Tissme e,
(1) &8go A 3883056,
(2) =8g0 B 56c3056.
(3) Todo TE G0 H0GDD.
B (4) Bodbo TE g0 H0GHID 5.
V-Biology
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84. Assertion (A) : Raw materials needed for photosynthesis are carbondioxide, water, sunlighy
and chlorophyll. )
Reason (R): Nutrients provide energy to the orgamsm.
(1) Both (A) and (R) are true, (R) is the correct explanation for (A).
(2) Both (A) and (R) are true, (R) is not the correct explanation for (A).
(3) (A)is true but (R) is false. -
(4) (A)is false but (R) is true. ;"
TES (A): SESEasrgS, 6, Srd5EYy, 00k AST0E0 @RI 8deaig Sodrt
BoHE @IBERS Snd ST T
5800 (R) : Fdsten 228 F8Qron.
(1) (A) %8050 (R) 585052, (R) @dd (A) & HBG0S DILeD.
(2) (A) 500050 (R) 585039, (R) 0% (A) S0 $OG D5Ee0 S°E0.
(3) (A) 380358 520 (R) 90B0&8 §7¢0.
(4) (A) 385058 5°¢%, (R) 28&@058.
85. The f&)llowing region of the human alimentary canal does not produce any digestive enzymes.
(1) Small intestine (2) Stomach
(3) Oesophagus ' (4) Mouth
L5059 eFETES'Y & o JtnSol EEED JoENo ES BoSo.
(1) DK @ (2) 2gdoo
(3) wIFETT8 4) &
86. Which of the following statement/s about THYROXINE is incorrect?
A) Itshows effect on general growth rate and metabolic activity.
B) Itstimulates the muscular development and normal sexual behaviour. '
C) Thyroid gland requires [odine to synthesize Thyroxine.
D) Thyroxine is also called as Thyroid hormone.
(1) Both(A)and (B) (2) (B)only
(3) (C)only (4) Both(A)and (C)
Bod T8S* or§)S $K00DJ D TEgo DO §°¢0?
A) @b Jde PoHEL B0 B850 zéé@otjgeg’gz;s BarsSo SrHdod.
B) godoo @é’,)a’)a% 508050 BoA¥ (DIEIK [ﬁ)’é?&"@ao&,
C) Bog)S D023 Burond (088 WBrES wSdso ®HSr0d.
D) Bo§ed Forond T80 ¥ SrE Heodn.
(1) (A)So0as» (B) (2) (B) Sr(@ds
() (©) B (4)  (A) 58050 (C)
V-Biology 18-A
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87. Assertion (A): Arteries are thick walled and elastic in nature.

Reason (R):  Arteries have to transport blood away from the heart.
(1) (A)is true, (R) is false.

(2) (R)does not explain the assertion.

(3) (R)is the correct explanation for (A).

(4) Both(A) and (R) are false.

TES (A): Slodoen SoodRs, RBYLHES EOAS Ao EOA dodrown.
580 (R) : $Sooen K0B200b E52Q) JEIT> Brow.

(1) (A) 303088, (R) 285088 s°60.

(2) (R) @038 (A) 5 9808 S8 5°¢%.

(3) R) 02038 (A) S 20808 DSdea.

(4) (A) $0850 (R) 90508 5°.

88.

Which of the following is not required in the experiment of proving CO, is necessary for
photosynthesis?

(1) KOH (2) Iodine

(3) Splitcork (4) Funnel

§8easg SoDBTHIBONS” SHIERSTFE BITgESH 800 PRrios® §od TBS
WIDE0BIG A8?

(1) KOH (2) ©Brd

(3) DewdsS b 55, (4) dHorén
89. Statement - A : Two pairs of salivary glands are located at the side of the jaw and below the

tongue.

Statement - B : Three pairs are located in the palate.

(1) Statement B is true. (2) Statements A and B are true.

(3) Statement A is true. : (4) Statements A, B are wrong.

TEg0-A: Do zde ororze fodoew SSde D8 S SoBaSn Trend 1ol wdod

& 0LIo.

T8g0-B: Sordh zde Hogoe ®0oADS® I8 €oLIow.

(1) &Ego B 505088. (2) o850 A 50080 B 38508a.

(3) 850 ADBSDIS. (4) o850 A SoBosn B I0R0dd 579,
90. A specialised tissue performs the activity of respiration in these plants.

(1) Ferons (2) Conifers (3) Algae (4) Orchids

& Dwg s’ THEoH FHo HBgE Smwrwo eotnod.

(1) 2Ge» (2) &Q»bew (3) Bdeoren (4) od)beo
V-Biology 19-A
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91. Which of the following statement/s is true regarding the survival of the fittest.
A: Inapopulation when there is a struggle for the existence, the fittest will not be surviveq.
B: Variations which are useful to an individual are retained, while those which are not
useful are lost. 4
(1) Aonly (2) Bonly
(3) BothAandB are true | (4) BothAandBare false
Srigdodne FEE 2580 ©I woz $020800 (G086 THS' VOGNS T80 28?7
A: 2 2aers® S0oKd §Ho 208 Foreros’ 200D ReNIBI.
B: 305ges 5cHssmsdm a)syd 0 @girosudeon. FHIsiuiad
o8BI 00.
(1) ASmgd (2) B Srgdd
(3) A 558050 BBodr H8&053 (4) A %0005 B08ZED 5
92. Match the following.
Group-A , Group - B
i)  Anticoagulant a) Scopolamine
iil) Bile pigment b) Heparin
iii) Sedative ¢) Nicotine
iv) Insecticide _ d) Urochrome
8ol T 28J8Eob.
o - A B - B
i) 88088 Q& G880 a) TS
i) Deged Sgso b) &8s
iii) S0yl c) QEB
iv) 8Bo*0es | d) cr&ES
(1) ()b, (ii)-4, (iii)-c, (iv)-a (2) (i)-d, (ii)-b, (iii)-a, (iv)-c
(3) (i)-d, (iD)-b, (iii)-c, (iv)-a (4) (D)-b, (i))-d, (iii)-a, (iv)-c
93.  Which membranous structure of embryo in placental mammals has no specific function’
(1) Allantois (2) Amnion (3) Yolksac (4) Chorion
50405 Q BirQs porosn 88Tres® HBgES D6 B&d?
(1) @odo (2) eeyo (3) ;I30n (4) docsoy
94. Anti Retroviral Therapy was established to treat the following diseases.
(1) AIDS (2) STD’s (3) Corona (4) Swine flu
Srotd B IES B8k wHdd & Tghs dowodod 130‘36.:0 DoSodSd.
(1) don&) (2) Soh¥ woln Trgtoen
(3) &8« (4) "Rger s
v-Biology S
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95. Scientist/s who can determine the age of fossils by carbon dating method is

a) Zoologist b) Paleontologist c¢) Geologist d) Botanist
(1) (a)and(b) (2) (b)and(d)
(3) (a)and(c) (4) (b)and(c)

50 dBoh 34V GIRrACD e Sohdod B8 od TRIG/

a) =od TRIE b) PoLs PRIE ¢)  drdd) TRIAE d)  HHE FRIG
(1) (a) $6050 (b) 2) (b) 005 ()

(3) (a) 50055 (<) (4) (b) 59005 (c)

96. Statement-1: Biomass can’tbe used as bio fuel.
Statement - II : “Niche” denotes only the animals position in the food web.

(1) Statement I is correct (2) Statement II is correct
(3) Both statements are correct (4) Both statements are incorrect

F¥go-1: 23 (5550730 Qoo TEBE0.
T8g0 -1l &3 wofos® zodhd Bwg TR ISP VS BOSHBN0B.
(1) o8go [ 588056 (2) 8o 1128BoH8
(3) Bodh Trstgen SBRID (4) Sok arsgen JBGI 5°H
97. To which of these topics MTR is related?
(1) Deforestation (2) Afforestation (3) Miningmethods(4) Recycling
MTR 95088 & @ozed 3020080088. .
(1) 0dYosesds (2) vdHowodso (3) Ao @itso (4) HI:sEaDo
98. Which of the following organisations monitors the status of endangered wildlife, threatened
national parks and preserves.
Bod TBS® D Jod PIrSo BoHS &) SSgrdods, T8 STy Saren, Dosgn

Boro $000foDS WoTe Fond HOON0B.

(1) ICBN - (2) ICWN - (3) IUCN (4) TUPAC
99. The traits which are expressed in first filial (F,) generation are
(1) Inherted traits (2) Dominant traits
(3) Recessive traits . (4) Acquired traits
F| 860&° 20088 $g8ody oferen
(1) ©0S5038 efren (2) 2TES wferen
(3) woddd eferen (4) ©f8 oferen
100. Which of the following fuel is least polluting?
(1) Diesel (2) CNG (3) Hydrogen (4) LPG
Bod TES* ©d 889,88 Seoad 5785S RogSo.
() é=2é (2) CNG (3) @S (4) LPG
V-Biology 21-A
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PART - 111 : PHYSICAL SCIENCES

101. The amount of heat required to raise the temperature of 1 gm of water up to 1°C is ca]og

as
(1) Joul (2) Kilo calorie
(3) Calorie _ (4) Joul/Calorie
28 (T50 D SAESS 1°C DoSaEs wsssHchy SPOBIVETY __ votrg,
1) & (2) 8&° 3S5°0
(3) s%8 (4) &S/85°0
102. When ice starts melting at 0°C then it's temperature
(1) Cannotsay (2) Decreasing
(3) Increasing (4) Remains constant
0°C 3&, Ko B0 (EDFS80 BododSHt o &IPS
(1) BHYBS0 (2) Sr30d
(3) &K 0s (4) o &otwod
103. Water with ‘m’ gm mass at T,°C mixed to the same mass of water at T,°C, the resultant
temperature at equilibrium T = _ (if there is no heat lost by the surroundings and
T, <Ty)
(1) LessthanT,°C (2) Greater than T,°C

(3) Greater than T,°C less than T,°C (4) (T,+T,)°C
T,°C &@s fo ‘m’ . (8550°3 fo A8 ©o8 (($550°3 Ko T,°C STES Ko 589
EODIYL &Y dBeRE 3G Q8 D8 GRS T = (Hddore NG RIS GRS
38030 T; < T,®on8)

(1) T\°C80B &893 (2) Ty°C 808 d8y s

(3) T,°C %08 89S T,°C 808 8595  (4) (T, +T,)°C

104. The amount of heat received to change the 10 gm of ice at 0°C to 10 gm of water at 0°C
1S

0°C 38 Ko 10 . © Do, 0°C 3G do 10 ™. © e Srttaso wssssahs agod
Q0D

(1) 800 cal (2) 80 cal (3) 8cal (4) 540 cal

V-Phy.Sciences 22-A
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105. | Substance with mgm mass A B C D E
Specific heat cal/gm°C 1 | 0.50 [ 0.095]0.012]0.081

It is supplied equal amount of heat for equal internal of time to all above mentioned
substances. Choose the correct ascending order of the rise in temperature of them.

C D E
0.095 1 0.012 | 0.081

B
0.50

A
23arQo (cal/gm°C) o&° 1

Sogo (m ($550°2)

DS’ NS DTTOKH 28 H0Sr0od” ), VSTSEwo Fn ©080DIIVE, T°¢3
GRS HDE Bewe ebFn Eo Trahod.

(1) D<E<C<B<A (2) A<B<C<D<E

(3) A<B<C<E<D (4) A<B<E<D<C

106. Colour formed by the hydrochloric acid with universal indicator is
(1) Orange (2) Violet (3) Yellow (4) Red
TIEFEDT R0 B8 JrESt BB Sorko
(1) eBo& 2) so (3) SdH (4) A8H
107. Formula of plaster of paris is

96 ©5 305 oy .
(1) CaS0,2H,0 (2) CaSO,%H,0 (3) CuSO,2H,0 (4) CuSO,%H,0

108.

Substance ‘X’ reacts with hydrochloric acid and formed Y and Z. Z gives ‘pop’ sound with
lighting flame stick then X, Y, Z respectively are

X’ 03 d5°go TE'E0E 65008 $85T08 Y Sr8an ‘7’ 00 2BD08. Z 5¢ B00hth&)
OAYOD G0 ‘LS’ LI Q) )08, wond X, Y, Z e 385
(1) Mg, H,,MgCl, (2) MgCl,,Mg,H, (3) H,, Mg, MgCl, (4) Mg, MgCl,, H,

1009.

V-Phy.Sciences

Select the correct one from the following matchings.

1)  Tartaric acid a)  Dock plant

11)  Formic acid b)  Nettle plant
c) Tamarind

2 d) Lemon

608 2dIBAS TBS* 586056 $80:508.

) &goE w0 a)  HPFE

1) &0 5700 b) &rofod 308,
C) Dodlockd
d) Q%0

(1) (1), (i)-a (2) (i)-c, (ii)-a (3) (1)-d, (ii)-b (4) (i)-c, (ii)-b

23-A

C} Scanned with OKEN Scanner



Question Paper
Booklet Code

110. Which of the following is not an alkali?

———

& 8od TRS' v d AB?
(1) Fe(OH), (2) NaOH (3) KOH (4) Mg(OH),

111.

S s
Which of the following is not correct for the given figure?
(1) Angle of incidence is less than angle of refraction.

(2) Medium B is denser with respect to medium A. :
(3) Speed of light in medium B is more than medium A. \XQ
(4) The value of ng, is less than 1. A
S HLo% Sowood §ob TSt HBSDIB 5°087? B Dy\
(1) 5858wo, 58e588m0 508 8893, :

(2) A& IS B roggd oSrd8o.

(3) oSrS80 A &° 08 osrdgo B &° 5708 S0 8.
(4) nBADQDé 1 §o€3 é@bé

112.

For the same angle of incidence value r, <r, in the given figures. Then write the ascending )
order of the speeds of light in the media A, B, C. 1
©F), dtros® &8 HS58%00 JeoSd 1y <1, wonS A, B, C csrsseod o8& so8dm

e85 (Eooes® (Trood.

(1) A<B<C (2) C<B<A (3) B<A<C (4) B<C<A
i

113.

The critical angle of a light ray is 30° when it passes through a medium to vacuum then ﬁnd
the speed of light in the medium? |

2,€ 508 880 2§ oSrdEo Jod Hrlgoests @oﬁmeaoaéajcsa ao&(ﬂ §'c00 9‘*"
30° eond & o3rSE0S® 5Po83K0 Jod?’ ]

(1) 3x10% m/sec (2) %XIO8 m/sec |
3 10° msec
(3) ;—Al() m/sec (4) 2x10® m/sec -
B2
V-Phy.Sciences 24-A
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114. The refractive indexes of glass and water with respect to air are 5 and 3 respectively then
what is the refractive index of water with respect to glass?

3 4
— 08030 — “ond meed)rs BT

mOGyTs mae S08a%wn és 388558 Kreosren SEd > 3

38558 e dos?

2
W 3 @ 3 ® 3 @ 5
115. Which of the following will change during refraction in two different media of light?

(1) Wavelength, Refractive index (2) Frequency, Wavelength

(3) Velocity of wave, Frequency (4) Refractive Index, Frequency

B0l FBE AIrSs oSt 508 SiESso 20ASIYE (8o FAS® S50 AD?

(1) &80r3E g0, 51858 Koeso (2) 283850, SBorBY g0

(3) &80k Ko, ZS:Sg0 (4) S8SSS Kor¥o, FS:HSgo

116. An fel_ectric lamp and a screen are placed on the table, in a line at a distance of 1 m. In what
position of convex lens of focal length of /= 20.25 cm will the image of lamp be sharp?

28 Band SNES) dEogS weg), BED 28 TIFTES 1 M. Erboss* Gomo.

a-

/=2025cm &ggo880 Ko Sogrss SL5mQ) D8 Hdg ) TIost Godd DYRD0S
©8Dowo I8 Kr&Hr08? -
(1) 70cm,30cm  (2) 60cm,40cm (3) 75 cm,25cm  (4) 65cm, 35 cm

I17. The focal length of a convex lens is ‘f” distance of object (u), position of image given for
various situations. Then select the correct matching from the following.

1) u=2f a) Atinfinity
i) u=f b) At2F
iii) f<u<2f c) OnF
d) Beyond2F
2.8 B0zr5d b8 rg¥goddo‘f” S98r80 ‘U wond D RodTHoS’ SRE=so (u),
R89o=0 PO o0, 808 2EHEAS T¢3es*® DB KHBotod.

1) u=2f a) od08 Srdoest
i) u=f b) 2F sg
iii) f<u<o2f c) F g
d) "2F8 wdo
(1) (i)-a, (ii)-b, (iii)-c ) (i)-b, (ii)-a, (iii)-d
(3) (i)-b, (ii)-c, (iii)-d (4) ()-a, (ii)-c, (111)-d
V-Phy.Sciences 25-A
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so as to form a real image at the same distance from the second surface of the sphere?

6 cm g¥rgo Ko FEEEE A¥o MO’ &od. T 58558 HoEol.S 5% droag
NSrS 8rdos’ Aerd8 To&'IY JdzdHowo Dm‘ba‘oo&j, PETgo AYo Jnose
G080 od Y Jod Brdost Gowd?

(1) 9cm (2) 6cm (3) 12cm (4) 15cm
119. An object is placed 40 cm in front of a converging lens formed an real image at the same
distance from the lens. Then what is it’s focal length. |
2.8 BoB88m Eea¥o Swods 40 cm © Erdos® 539 SoDSHG 8o Hod wod
SErSos* JuEPdNowo ANAB & EE Tegod8o Jod?
(1) 40 cm (2) 30cm (3) 80cm (4) 20cm
120. Characteristics of image formed by a convex lens of focal length 20 cm when an object is
placed 60 cm in front of that convex lens.
(1) Real, Magnified image (2) Virtual, Magnified image
(3) Real, Diminished image (4) Virtual, Diminished image
20 cm Srgoddo Ko 2.8 $00arses Sgo $2008 60 cm © Sr80eS® 30H00NIYL
A H8N0a ©FeTed | '
(1) Dz, S5HBEE H&Howo (2) g, K @8Dowo
(3) Qz, 8 HSNow0. 4) Jzg, 80 H&Do=0
121. The reason behind least distance for distinct vision of aged below 10 years nearly 7 to 8 cm '
1s
(1) Muscles of eye are not strong enough, but having flexible.
(2) Muscles of eye are strong enough, but not flexible.
(3) Muscles of eye are strong and flexible.
(4) Muscles of eye are not strong and not flexible.
20576 10 H058)070S Q) a8 DRE)A 87 Srdo WIrd 7 cm Kod § cm Sosmh
e 5820 ; |
(1) £o& Eodoren @ybormr BLowm, JATHESDH EdA wodo.
(2) Kol Kothoreo Gybom Gob, ROTHESKH KON SoBEIFSo.
(3) £oi3 Eodoren ko, JBFHEE EOA Goddo.
(4) Bo& Bodureo Gybor BBooa, PEFHESH EOA Sod¥So.
122. The colour indicated by the letter “B” in“VIBGYORis
(1) Black (2) Brown (3) BabyPink (4) Blue
VIBGYOR &* “B7eiéds S0 drdidobd.
(1) =§ (2) @s (3) @0 Dok (4) ar
V-Phy.Sciences 26-A

E
£
i

. A transparent sphere of radius 6 cm and refractive index 1.5 is kept in air. At what distance
from the first surface of the sphere should a point object, be placed on the principal of axis

|

i

l

V-I
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123. The colour of the inner cone in rainbow is

(1) Violet (2) Red (3) Orange (4) White

R0EEIYS* OQOLET) WodE Fog) Bk, So>

(1) o (2) D (3) ooz (4) Bend
124. When white light falls on the surface of a regular prism?

A)  Refraction of light takes place. B) Dispersion of light takes place.

C)  Scattering of light takes place.

(1) Only(A) (2) Only(B)

(3) (A)and(B) (4) (A)and(C)only

08 [ESoDd4%o R0, I8E00D 8905708 HAIHY

A) 508 585550 2&kHeos. B) 5708 J8de0 2&K008.

C) 5908 H88dm0 26K808.

(1) 3Seo (A) Srsd (2) 3Sewo (B) SrEd

(3) (A) 08050 (B) (4) (A) %0050 (C) S

125. When white light dispersed through a regular prism then which of the following is not true?
(1) Wavelength of red colour light is more.

(2) Refractive index of red colour light is less.
(3) Red colour light deviates more.
(4) Red colour light deviates less.

28 Si%0 how Byd 508 Igdwo BoBIHE Eob TS HOGSE IS D62
(1) %Y Bok srod S8or3g g0 I8y . '

(2) %Y Gohr 508 5Ee55S Koeko 359, 3.

(3) DY Sokd B S QBOIT) Po&08.

(4) 263 o B89,5 Dzﬁoa‘(‘\')az 2008,

126. Identify the set of quantum n

. umbers from the following which are not possible for any
electron in any atom? ]

< DESErE05)e5* D CTIRSERY FEFO5° 500 éozpse;?éo 8od et 8oHdw.

]
(1) n=3/=y, m, = (), ms=+5 (2) n=3,1=2, m;=-+], m =—

]
(3) n=2]=2 m,-——],m".:-i‘g (4) n=2 1= Lmy=1,m =+—
—\‘_v‘«___'»______ e '

e ———
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127. The energy of a light wave (in Jouls) with a frequency of 3> 1025 sec™
3x1025 sec”! T&:YRgo Ko 5708 ddofio Sog), ¥§ (5‘{)"5‘) _—
(1) 1.9878x10715 (2) 1.9878x107"!
(3) 1.9878x10°10 (4) 1.9878x107"°
128. Which of the following has maximum lone electrons?
& fod T8S* KOR Dowges® 2oeB RLTERSY 325 &odron?
(1) Fe (2) Ar (3) Mg¥ 4 T

129. Which type of d orbital is indicated by the given figure?
ad dLo O 8RS d BBrdSd Jrddyod?

-
-

ﬂy

(1) dy @) d. (3) d 4) dae
130. The value of four quantum numbers of diffcrentiating electron of potassium
SErR0300 S0k BEHBT QOIS B, T §3g00 domge Jewden

1 1

(1) n=4,1=2,m=+,m=+7 Q) n=4,1=0,m=0,mg=+=

1 1
(3) n=4,1=1,m=0,m=+ (&) n=4,1=0,m=+1,m=—

131. Which of the following clement is not there in the list Newlands law of octaves table of

clements?
& |8ob TAS* Srgerod ©RE AoHD DrosTe HPES® 8 Sore¥o.
(1) H (2) Rb (3) Cr (4) He

132. Which of the following is consi_dered as a group-I in Mendeleev’s periodic table when he
constructed initially on the basis of oxides?
Sros ugbo sEdor Saird DoD2dI D0ddS &0 wigS HBES* Kro-1 & &
0B TSt DB JrdoSado?
() RO (2) R,0, (3) R,O 4) R,0;

133. Whi ch of the following element belongs to chalcogen family?

: S Sotnozrad Bold Sredo 289

(1) P (2) Br (3) Se (4) Si
28-A AR
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134. Metals in 14" or [V, group are o

IV (14)S frHe* Ko &'dsen
() C,Si (2) C,Ge

(3) Si, Ge

(4) Sn,Pb

135. The atomic number of the element which comes immediately after Nitrogen in V(15)
group.
VAUS)S % 8088 3e5*sS Stoms oF rpe* $8) Sare¥ 565rm Sovg
(1) 7 (2) 14 3) 15 4) 17
136. Bond angles, atoms of clements matched in the following. Identify the correct one.
A) 109°28 X)  HOH
B) 107°48' Y) HCH
C) 104°31 zZ)  HNH
& 808 204 Seren Saros SESrmYeo adsEEnsSD. HBE KHY0B0.
A) 109°28' X)  HOH
B) 107°48' Y) HCH
C) 104°31 zZ) HNH
(1) A-x,B-y, C-z (2) A-z,B-y,C-x
(3) Ay, B-xj C-z (4) A-y,B-z,C-x
137. Which of the following has more pie (7) bonds?
Bod TIS® 8D 2 (7) worren Kod.
(1) N (2) Ch (3) O (4) HCl
138. Which of the following molecule does not have covalent bond?
& 808 T7¢3e5° HBBraAcdH wogo B By
(1) HCI (2) Be(l, (3) Kd 4 o,
139. ‘X’ is an element gives compound XO, with oxygen then valency of ‘X’ is

——

‘Xeod 0§ Srebo s§jzed’ X0, ol dodrs K)m‘ogébn) QP X'Bog Joy

(1) 11

(2) 3 (3) 2 4) 1
140. The atomic number of element which is not able form cation.
G Bol Tt BLOSrOR DEEEBI ool HISren HSowpg.
(2) 19 (3) 12 4 9
29-A
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41. If Ry = R, = Ry = 20Q which of the following has more resistance when compared with

other three?
R; =Ry =R;=20Q ©ond & 808 T°dS* 2ohdS Sorbolds® Py BIS* AT Go wbEo.

@) A

R R R
(1) — AWM AW

R, R,
(3) A e/ W MWW— B (4) A— —M'/Qw—ce
3

142. Two wires are made of same material and having same thickness are having lengths L, L,

and resistances Ry, R, respectively then which of the following is true?
2% HTgod® DS 2 080 SOAS Bodk e FEJeo S/ Ly, L, $08050 I5Te0

R, R, @oooes & 808 TAS® A6 J&g0?

_ R? R} JRi Ly R _L
M RL=RL, @ T-=7% & 7T @ g -
1Joul
145, 1 Coulomb
(1) 1 Volt (2) 1Ampere 3) 1 Watt (4) 10hm
185 '
] Sow0d
() 158 (2) 1 &0dcHs 3) 1 &8 4) 1&%

144. A device is connected to 220V line has two resistant coils X and Y each 11 ohms resistance.

Calculate the amount of electric current flow when these coils are connected in parallel.
(1) 10Amp (2) 22Amp (3) 40Amp (4) 20Amp

220V BSE §00& 2.8 Dogd HOEE0S’ 28K S 11 160 Ko X Sodcsn Y & oo
HSroddornr Dogrdo B IS PHITTY) B§) oBod.

(]) 10 esobaHben (2) 22 woddhben (3) 40 wobhoHhHSen (4) 7() c.r.oaolsw

145. Power of an electric device is P then which of the followmg, is true?

V- Phy.Scie nccs

L8 Degd HOEGo dBggo P wond & §ob IS A8 Heg0?

12 . , . &
1y P=i (2) P-V2R (3) P=IR? () P

R
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146. Bauxite is the ore of
THY THE

(1) Al (2) Cu (3) Zn (4) Mg
147. Which of the following is not an oxide ore?

(1) Bauxite - (2) Pyrolusite (3) Haematite (4) Galena

o8 8S* uHH&E T&H 538 282

(1) =g Q) PSorgps  (3) THSE (4) ndz
148. Identify the correct one from the following matchings.

i) Na A)  Electrolysis of fused compounds

1) Pb B) Reduction of oxide with carbon

C) Found in natural state
Bod =8BR8 TBS* BBSIS KH8oF0A.

) Na A)  B56rs SEgTe ddgs JFhe
ii) Pb B) s9)n&° ugde §oHEsmo

C) ©8ss® STradgor ©Hos
(1) (@@)-A, (i)-B (2) (@@)-A, (1)-C
3) @)-C, (i)-A (4) (1)-B, (i))-A

149. While processing of electrolysis: of NaCl which of the following is correct?
(1) 2Na™+2% — 2Na"(at cathode) (2) 2Na™-2€— 2Na**(at cathode)
(3) 2CI” — Cl, +27¢(at anode) (4) 2CI” — Cl, - 2% (at anode)
NaCl D58 D3sie HE0H 20059k, 8od TS DB HOGIE?
(1) 2Nat+2% = 2NattEFE 58)  (2) 2Na*—28 5 2Na™ (66 58)
(3) 2CI™ — Cl,+2¢€ (358 54) (4) 2CI" - Cl, -2 (38 3g)

150. Bronze is an alloy of

(1) Copper and Gold (2) Copperand Zinc

(3) Goldand Tin (4) CopperandTin

QES F*oro asd & fo STt

(1) on S000sw oo (2) oh Sodcsn 20§

(3) womdo Hab030 &ido (83:) (4) o°h H00csn SKSo (839)
Ooo0o0o0

31-A
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